INVITATION FOR BID SUMMARY REPORT AND AWARD RECOMMENDATION

Date: March 1, 2017

Bid Number and Title: IFB 17-15 Marshall Road Sidewalk Improvements

Bid Opening Date and Time: February 22, 2017

Bids Opened by: Gina Gilpin, Purchasing Agent

Witnessed by: Luis Blandon

Total Bids Received: Five (5)

Bids were received from five (5) vendors for the subject IFB. The results of the bids are detailed on the Bid Tabulation, attached.

A&M Concrete Corporation was the low bidder with a total bid amount of \$1,130,227.85. A&M has been determined to be a responsive and responsible bidder by DPW, and has met the specifications of the IFB.

Award is recommended to be made to:

A&M Concrete 42685 Dulles Trade Court Sterling, VA 20166

	IF8 17-15 Marshall Road Sidewalk Improvements Bid Opening 2/22/17 1100 MM Opened by Gina Gilpin Witnessed by Luis Blandon			A&M Concret 42685 Dulles Sterling, VA 2	Trade Court	Sagres Construct 8350 Terminal I Lorton, VA 220	Road, Suite A	Fort Myer Cor 2237 33rd Stre Washington, I	et NE	M&F Concrete 9515 Contracto Manassas, VA 2		Jeffrey Stack, Inc PO Box 280 Jersey, VA 22481	
No.	Description	Units	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	MOBILIZATION - NOT TO EXCEED 5% OF TOTAL BID	LS	1	\$56,500.00	\$56,500.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$48,000.00	\$48,000.00	\$80,000.00	\$80,000.00
2	CONSTRUCTION SURVEYING	LS	1	\$8,500.00	\$8,500.00	\$45,000.00	\$45,000.00	\$23,000.00	\$23,000.00	\$32,750.90	\$32,750.90	\$26,450.00	\$26,450.00
3	CLEARING AND GRUBBING	ACRE	0.14	\$25,000.00	\$3,500.00	\$45,000.00	\$6,300.00	\$43,000.00	\$6,020.00	\$31,479.50	\$4,407.13	\$43,214.00	\$6,049.96
4	REGULAR EXCAVATION	CY	337	\$46.00	\$15,502.00	\$45.00	\$15,165.00	\$72.00	\$24,264.00	\$45.50	\$15,333.50	\$47.60	\$16,041.20
5	EXCESS CUT TO BE DISPOSED (HAUL AWAY)	CY	1500	\$44.00	\$66,000.00	\$10.00	\$15,000.00	\$63.00	\$94,500.00	\$45.50	\$68,250.00	\$74.90	\$112,350.00
6	ROOTMAT (6" DEPTH) [REMOVE & HAUL AWAY]	CY	920	\$44.00	\$40,480.00	\$10.00	\$9,200.00	\$68.00	\$62,560.00	\$45.50	\$41,860.00	\$85.60	\$78,752.00
7	UNSUITABLE MATERIAL (REMOVE & HAUL AWAY)	CY	1558	\$44.00	\$68,552.00	\$5.00	\$7,790.00	\$63.00	\$98,154.00	\$45.50	\$70,889.00	\$83.20	\$129,625.60
8	EMBANKMENT MATERIAL (FILL, MEETING CBR 5.5 OR GREATER)	CY	1204	\$58.00	\$69,832.00	\$10.00	\$12,040.00	\$84.10	\$101,256.40	\$32.50	\$39,130.00	\$55.75	\$67,123.00
9	ASPHALT CONCRETE TY. SM-9.5A	TON	303	\$125.00	\$37,875.00	\$195.00	\$59,085.00	\$145.00	\$43,935.00	\$136.71	\$41,423.13	\$176.80	\$53,570.40
10	ASPHALT CONCRETE TY. BM-25.0A	TON	533	\$120.00	\$63,960.00	\$175.00	\$93,275.00	\$115.00	\$61,295.00	\$131.73	\$70,212.09	\$156.90	\$83,627.70
11	AGGR.BASE MATL. TY. I NO. 21B (FOR ASPHALT ROADWAY & UD-4 INSTALL)	TON	1052	\$44.00	\$46,288.00	\$30.00	\$31,560.00	\$42.00	\$44,184.00	\$50.00	\$52,600.00	\$39.15	\$41,185.80
12	AGGR.BASE MATL. TY. I NO. 21B (FOR CG-12 CURB RAMPS)	TON	49	\$45.00	\$2,205.00	\$40.00	\$1,960.00	\$42.00	\$2,058.00	\$50.00	\$2,450.00	\$45.25	\$2,217.25
13	AGGR.BASE MATL. TY. I NO. 21B (FOR CONC. S/W)	TON	91	\$45.00	\$4,095.00	\$40.00	\$3,640.00	\$52.00	\$4,732.00	\$50.00	\$4,550.00	\$44.00	\$4,004.00
14	AGGR. BASE MATL. TY. I NO. 21B (FOR CONC. APRONS)	TON	48	\$45.00	\$2,160.00	\$40.00	\$1,920.00	\$52.00	\$2,496.00	\$50.00	\$2,400.00	\$44.50	\$2,136.00
15	AGGR.BASE MATL. TY. I NO. 21B (FOR CG-6)	TON	130	\$45.00	\$5,850.00	\$40.00	\$5,200.00	\$42.00	\$5,460.00	\$50.00	\$6,500.00	\$47.35	\$6,155.50
16	DEMOLITION OF PAVEMENT (ROADWAY)	SY	2419	\$8.00	\$19,352.00	\$15.00	\$36,285.00	\$11.00	\$26,609.00	\$15.00	\$36,285.00	\$16.00	\$38,704.00
17	REMOVE CONCRETE APRON	SY	25	\$20.00	\$500.00	\$15.00	\$375.00	\$48.00	\$1,200.00	\$138.00	\$3,450.00	\$11.30	\$282.50
18	REMOVE CURB AND GUTTER	LF	704	\$8.00	\$5,632.00	\$10.00	\$7,040.00	\$7.60	\$5,350.40	\$13.00	\$9,152.00	\$11.45	\$8,060.80
19	REMOVE ASPHALT SIDEWALK/SHARED USE PATH/TRAIL	SY	132	\$8.00	\$1,056.00	\$10.00	\$1,320.00	\$27.00	\$3,564.00	\$15.00	\$1,980.00	\$12.60	\$1,663.20
20	REMOVE CONCRETE SIDEWALK	SY	125	\$8.00	\$1,000.00	\$10.00	\$1,250,00	\$14.00	\$1,750.00	\$36.00	\$4,500.00	\$16.00	\$2,000.00
21	REMOVE CURB CUT RAMPS	SY	119	\$10.00	\$1,190.00	\$10.00	\$1.190.00	\$14.00	\$1,666.00	\$36.00	\$4,284.00	\$17.00	\$2,023.00
22	REMOVE GRAVEL DRIVEWAY	SY	54	\$8.00	\$432.00	\$5.00	\$270.00	\$14.00	\$756.00	\$36.00	\$1,944.00	\$7.81	\$421.74
23	REMOVE ASPHALT DRIVEWAY/ASPHALT ENTRANCE	SY	154	\$8.00	\$1,232.00	\$7.50	\$1,155.00	\$22.00	\$3,388.00	\$15.00	\$2,310.00	\$12.24	\$1,884.96
24	REMOVE RCP (DRIVEWAY CULVERTS)	LF	89	\$48.00	\$4,272.00	\$15.00	\$1,335.00	\$39.00	\$3,471.00	\$100.00	\$8,900.00	\$42.33	\$3,767.37
25	REMOVE YARD DRAIN	EA	1	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$651.00	\$651.00	\$500.00	\$500.00	\$1,200.00	\$1,200.00
26	FLEXIBLE PAVE. PLANING 0"-2"	SY	345	\$14.00	\$4,830.00	\$27.50	\$9,487.50	\$22.00	\$7,590.00	\$20.28	\$6,996.60	\$28.00	\$9,660.00
27	SAW CUT PAVEMENT (ROADWAY)	LF	673	\$2.00	\$1,346.00	\$4.00	\$2,692.00	\$4.50	\$3,028.50	\$6.00	\$4,038.00	\$7.11	\$4,785.03
28	SAW CUT CURB AND GUTTER	LF	70	\$4.00	\$280.00	\$5.00	\$350.00	\$6.00	\$420.00	\$6.00	\$420.00	\$9.20	\$644.00
29	SAW CUT (SIDEWALK AND ASPHALT TRAIL)	LF	129	\$4.00	\$516.00	\$4.00	\$516.00	\$4.50	\$580.50	\$6.00	\$774.00	\$5.95	\$767.55
30	SAW CUT (ASPHALT DRIVEWAY/PARKING LOT)	LF	42	\$4.00	\$168.00	\$4.00	\$168.00	\$4.50	\$189.00	\$6.00	\$252.00	\$6.90	\$289.80
31	CONCRETE SIDEWALK 4"	SY	322	\$48.00	\$15,456.00	\$65.00	\$20,930.00	\$57.50	\$18,515.00	\$45.00	\$14,490.00	\$61.35	\$19,754.70
32	NS COMB. CURB & GUTTER (MODIFIED CG%)	LF	832	\$28.00	\$23,296.00	\$65.00	\$54,080.00	\$31.50	\$26,208.00	\$32.00	\$26,624.00	\$29.55	\$24,585.60
33	NS RADIAL COMB. CURB & GUTTER (MODIFIED RADIAL CGIB)	LF	280	\$28.00	\$7,840.00	\$65.00	\$18,200.00	\$50.00	\$14.000.00	\$32.00	\$8,960.00	\$28.85	\$8,078.00
34	ENTRANCE GUTTER CG-9B	SY	110	\$90.00	\$9,900.00	\$85.00	\$9,350.00	\$56.00	\$6.160.00	\$104.00	\$11.440.00	\$111.35	\$12,248.50
35	CURB RAMP CG-12 TYPE A	SY	16	\$90.00	\$1,440.00	\$75.00	\$1,200.00	\$101.00	\$1,616.00	\$54.00	\$864.00	\$75.00	\$1,200.00
36	CURB RAMP CG-12 TYPE B	SY	77	\$78.00	\$6,006.00	\$75.00	\$5,775.00	\$101.00	\$7,777.00	\$54.00	\$4,158.00	\$75.00	\$5,775.00
37	CURB RAMP CG-12 TYPE C	SY	116	\$78.00	\$9,048.00	\$75.00	\$8,700.00	\$101.00	\$11,716.00	\$54.00	\$6,264.00	\$75.00	\$8,700.00
38	CG-12 DETECTABLE WARNING SURFACE	SY	19	\$280.00	\$5,320.00	\$225.00	\$4,275.00	\$275.00	\$5,225.00	\$243.00	\$4,617.00	\$398.75	\$7,576.25
39	REMOVE/MODIFY PORTION OF EX. CONCRETE SWALE	LS	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$2,875.00	\$2,875.00	\$800.00	\$800.00	\$5,000.00	\$5,000.00
40	RELOCATE MAILBOX	EA	6	\$250.00	\$1,500.00	\$225.00	\$1,350.00	\$287.50	\$1,725.00	\$400.00	\$2,400.00	\$300.00	\$1,800.00
41	REMOVE EXISTING REFLECTOR POST	EA	7	\$65.00	\$455.00	\$50.00	\$350.00	\$345.00	\$2,415.00	\$300.00	\$2,100.00	\$45.00	\$315.00
42	TOPSOIL CL. A 2"	SY	785	\$3.60	\$2,826.00	\$5.00	\$3,925.00	\$14.70	\$11,539.50	\$4.60	\$3,611.00	\$5.00	\$3,925.00
43	SOD	SY	785	\$6.00	\$4,710.00	\$10.00	\$7,850.00	\$6.90	\$5,416.50	\$4.50	\$3,532.50	\$8.00	\$6,280.00
44	REMOVE TREES/ BUSHES (ALL THAT ARE REQUIRED)	LS	1	\$4,400.00	\$4,400.00	\$57,500.00	\$57,500.00	\$2,875.00	\$2,875.00	\$2,600.00	\$2,600.00	\$7,500.00	\$7,500.00
45	TREE PROTECTION FENCE	EA	1	\$300.00	\$300.00	\$250.00	\$250.00	\$2,760.00	\$2,760.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00
46	TEMPORARY SILT FENCE	LF	1032	\$4.00	\$4,128.00	\$5.00	\$5,160.00	\$5.75	\$5,934.00	\$1.00	\$1,032.00	\$4.00	\$4,128.00
47	INLET PROTECTION TY. B	EA	10	\$225.00	\$2,250.00	\$200.00	\$2,000.00	\$373.75	\$3,737.50	\$250.00	\$2,500.00	\$400.00	\$4,000.00
48	MAINTENANCE OF TREES	LS	1	\$5,200.00	\$5,200.00	\$1,500.00	\$1,500.00	\$2,875.00	\$2,875.00	\$975.00	\$975.00	\$4,670.00	\$4,670.00
49	TREE (MINIMUM 3" CALIPER)	EA	12	\$500.00	\$6,000.00	\$450.00	\$5,400.00	\$460.00	\$5,520.00	\$715.00	\$8,580.00	\$651.00	\$7,812.00
50	REPLACE STRUCTURE TOP (STD. DI-3B L=14')	EA	1	\$5,800.00	\$5,800.00	\$8,000.00	\$8,000.00	\$5,997.55	\$5,997.55	\$5,850.00	\$5,850.00	\$6,500.00	\$6,500.00
51	REPLACE STRUCTURE TOP (STD. DI-3B L=16')	EA	1	\$6,100.00	\$6,100.00	\$8,500.00	\$8,500.00	\$6,201.00	\$6,201.00	\$5,850.00	\$5,850.00	\$7,000.00	\$7,000.00
52	REPLACE STRUCTURE TOP (STD. DI-3F L=8')	EA	1	\$4,600.00	\$4,600.00	\$7,500.00	\$7,500.00	\$4,918.00	\$4,918.00	\$3,900.00	\$3,900.00	\$4,000.00	\$4,000.00
			<u> </u>	+ -,250.00	+ .,=30.00	Ţ.,230.00	Ţ.,E30.00	Ţ.,.10.00	Ţ.,,110.00	+=,=30.00	+=,= 50.00	+ .,=30.00	+ .,= 30.00

	IF8 17-15 Marshall Road Sidewalk Improvements Bid Opening 2/22/17 11:00 AM Opened by Gina Gilpin Witnessed by Luis Blandon			A&M Concret 42685 Dulles Sterling, VA 2	Trade Court	Sagres Constru 8350 Terminal I Lorton, VA 220	Road, Suite A	Fort Myer Cor 2237 33rd Stri Washington, I	et NE	M&F Concrete 9515 Contracto Manassas, VA 2		Jeffrey Stack, Inc PO Box 280 Jersey, VA 22481	
No.	Description	Units	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
53	INLET SHAPING IS-1	EA	3	\$850.00	\$2,550.00	\$500.00	\$1,500.00	\$2,415.00	\$7,245.00	\$390.00	\$1,170.00	\$922.00	\$2,766.00
54	EXISTING PIPE TO BE CLEANED	LF	280	\$6.00	\$1,680.00	\$15.00	\$4,200.00	\$15.00	\$4,200.00	\$13.00	\$3,640.00	\$21.20	\$5,936.00
55	PIPE VIDEO INSPECTION AND PIPE CLEAN-OUT (EX. 9 TO EX. 10, EX. 10 TO EX. 11, EX. 12 TO EX. 16)	LF	280	\$5.00	\$1,400.00	\$10.00	\$2,800.00	\$6.90	\$1,932.00	\$13.00	\$3,640.00	\$22.30	\$6,244.00
56	CONNECT ST'D UD-4 TO STRUCTURE	EA	2	\$300.00	\$600.00	\$750.00	\$1,500.00	\$1,205.00	\$2,410.00	\$520.00	\$1,040.00	\$900.00	\$1,800.00
57	UNDERDRAIN UD-4	LF	600	\$14.00	\$8,400.00	\$25.00	\$15,000.00	\$23.50	\$14,100.00	\$26.00	\$15,600.00	\$19.52	\$11,712.00
58	BORE NON-PERFORATED UNDERDRAIN UD-4	LF	30	\$85.00	\$2,550.00	\$45.00	\$1,350.00	\$190.00	\$5,700.00	\$166.67	\$5,000.10	\$225.45	\$6,763.50
59	NON-PERFORATED UNDERDRAIN UD-4	LF	580	\$14.00	\$8,120.00	\$25.00	\$14,500.00	\$18.00	\$10,440.00	\$26.00	\$15,080.00	\$17.85	\$10,353.00
60	NUTRIENT CREDIT PURCHASE	LBS/YR	0.1	\$35,800.00	\$3,580.00	\$100.00	\$10.00	\$23,000.00	\$2,300.00	\$35,750.00	\$3,575.00	\$32,000.00	\$3,200.00
61	TY. B CL. I PAVE. LINE MARK. 4" (WHITE)	LF	4385	\$1.20	\$5,262.00	\$1.00	\$4,385.00	\$0.75	\$3,288.75	\$1.30	\$5,700.50	\$1.50	\$6,577.50
62	TY. B CL. I PAVE. LINE MARK. 4" (YELLOW)	LF	5391	\$1.20	\$6,469.20	\$1.00	\$5,391.00	\$0.75	\$4,043.25	\$1.30	\$7,008.30	\$1.50	\$8,086.50
63	TY. B CL. I PAVE. LINE MARK. 6" (WHITE)	LF	465	\$2.50	\$1,162.50	\$2.50	\$1,162.50	\$2.25	\$1,046.25	\$2.60	\$1,209.00	\$2.15	\$999.75
64	TY. B CL. I PAVE. LINE MARK. 24" (WHITE)	LF	623	\$8.00	\$4,984.00	\$10.00	\$6,230.00	\$10.95	\$6,821.85	\$9.10	\$5,669.30	\$9.00	\$5,607.00
65	TY. B CL. I PAVE. MESSAGE MARK. "SCHOOL" (WHITE)	EA	1	\$895.00	\$895.00	\$795.00	\$795.00	\$862.50	\$862.50	\$975.00	\$975.00	\$991.00	\$991.00
66	TY. B CL. I PAVE. MESSAGE MARK. HELMENTED BICYCLE SYMBOL & BIKE ARROW (WHITE)	EA	4	\$475.00	\$1,900.00	\$295.00	\$1,180.00	\$396.75	\$1,587.00	\$520.00	\$2,080.00	\$511.00	\$2,044.00
67	SIGN PANEL	SF	405	\$34.00	\$13,770.00	\$30.00	\$12,150.00	\$32.20	\$13,041.00	\$37.70	\$15,268.50	\$40.30	\$16,321.50
68	SIGN POST STP-1, 2" 12 GA.	ъ	322	\$22.00	\$7,084.00	\$10.00	\$3,220.00	\$63.25	\$20,366.50	\$24.70	\$7,953.40	\$45.00	\$14,490.00
69	SIGN POST STP-1, 2 3/16" 10 GA. (FOR INNER POST ONLY, 6')	LF	132	\$40.00	\$5,280.00	\$10.00	\$1,320.00	\$74.75	\$9,867.00	\$45.50	\$6,006.00	\$45.32	\$5,982.24
70	SIGN POST STP-1, 2 1/2" 10 GA.	LF	350	\$65.00	\$22,750.00	\$10.00	\$3,500.00	\$63.25	\$22,137.50	\$71.50	\$25,025.00	\$45.00	\$15,750.00
71	CONCRETE FOUNDATION STP-1, TYPE A	EA	48	\$135.00	\$6,480.00	\$195.00	\$9,360.00	\$126.50	\$6,072.00	\$149.50	\$7,176.00	\$550.00	\$26,400.00
72	REMDISPOSE SIGN STR. (INCLUDES SIGNS, POSTS, AND FOUNDATIONS)	EA	12	\$125.00	\$1,500.00	\$100.00	\$1,200.00	\$115.00	\$1,380.00	\$475.00	\$5,700.00	\$215.00	\$2,580.00
73	INSTALL SIGN (ROADWAY SIGNS, EXCLUDING RRFB SIGNAGE)	EA	48	\$125.00	\$6,000.00	\$150.00	\$7,200.00	\$345.00	\$16,560.00	\$65.00	\$3,120.00	\$109.00	\$5,232.00
74	INSTALL BI-DIRECTIONAL RRFB (ALL INCLUSIVE ASSEMBLY AND ELECTRICAL CONNECTION)	EA	6	\$8,900.00	\$53,400.00	\$21,500.00	\$129,000.00	\$431.25	\$2,587.50	\$18,850.00	\$113,100.00	\$12,090.00	\$72,540.00
75	ERADICATION OF EX. PAVEMENT MARKINGS (EXISTING & TEMPORARY FOR CONSTR.)	T.	4682	\$1.20	\$5,618.40	\$1.00	\$4,682.00	\$1.10	\$5,150.20	\$1.30	\$6,086.60	\$2.00	\$9,364.00
76	ALLAYING DUST	HR	50	\$65.00	\$3,250.00	\$10.00	\$500.00	\$11.50	\$575.00	\$117.00	\$5,850.00	\$65.00	\$3,250.00
77	FLAGGER SERVICE	HR	2500	\$29.00	\$72,500.00	\$14.50	\$36,250.00	\$28.75	\$71,875.00	\$28.00	\$70,000.00	\$65.60	\$164,000.00
78	WARNING LIGHT (TYPE B)	DAY	90	\$5.00	\$450.00	\$15.00	\$1,350.00	\$5.75	\$517.50	\$6.00	\$540.00	\$10.00	\$900.00
79	GROUP 2 CHANNELIZING DEVICE (DRUM)	DAY	8500	\$0.65	\$5,525.00	\$1.00	\$8,500.00	\$0.35	\$2,975.00	\$1.00	\$8,500.00	\$5.00	\$42,500.00
80	TRAFFIC BARRIER SERVICE (CONCRETE)	LF	400	\$40.00	\$16,000.00	\$50.00	\$20,000.00	\$28.75	\$11,500.00	\$62.40	\$24,960.00	\$75.00	\$30,000.00
81	IMPACT ATTENUATOR SERVICE (TY. 1-A, TL-2, ≤ 45 MPH)	EA	6	\$5,500.00	\$33,000.00	\$5,500.00	\$33,000.00	\$6,325.00	\$37,950.00	\$8,450.00	\$50,700.00	\$12,500.00	\$75,000.00
82	CONSTRUCTION PAVE. MARK.(TY. D, CL. II) 4" WIDTH (WHITE)	LF	1800	\$1.75	\$3,150.00	\$1.75	\$3,150.00	\$1.50	\$2,700.00	\$1.89	\$3,402.00	\$2.00	\$3,600.00
83	CONSTRUCTION PAVE. MARK.(TY. D, CL. II) 4" WIDTH (YELLOW)	LF	2200	\$1.75	\$3,850.00	\$1.75	\$3,850.00	\$1.50	\$3,300.00	\$1.89	\$4,158.00	\$2.00	\$4,400.00
84	CONSTRUCTION PAVE. MARK. (ARROW & "ONLY" MESSAGE, INSTALL AND REMOVE)	LF	2201	\$4.75	\$10,454.75	\$0.10	\$220.10	\$0.30	\$660.30	\$5.20	\$11,445.20	\$4.25	\$9,354.25
85	AGGREGATE MATERIAL (NO. 78)	TON	10	\$58.00	\$580.00	\$45.00	\$450.00	\$114.00	\$1,140.00	\$50.00	\$500.00	\$65.00	\$650.00
86	TYPE 3 BARRICADE 4' (For Conc. Sidewalk)	EA	6	\$315.00	\$1,890.00	\$75.00	\$450.00	\$207.00	\$1,242.00	\$500.00	\$3,000.00	\$800.00	\$4,800.00
87	TYPE 3 BARRICADE 8'	EA	14	\$347.00	\$4,858.00	\$450.00	\$6,300.00	\$287.50	\$4,025.00	\$600.00	\$8,400.00	\$1,200.00	\$16,800.00
88	TEMPORARY SIGN (CONSTRUCTION SIGNS & POST)	SF	821	\$21.00	\$17,241.00	\$55.00	\$45,155.00	\$20.70	\$16,994.70	\$65.00	\$53,365.00	\$44.32	\$36,386.72
89	PORTABLE CHANGEABLE MESSAGE SIGN	HR	9000	\$3.50	\$31,500.00	\$5.00	\$45,000.00	\$2.30	\$20,700.00	\$5.00	\$45,000.00	\$12.00	\$108,000.00
90	TEMP. SAFETY FENCE 4' (ORANGE SAFETY FENCE)	LF	1200	\$4.00	\$4,800.00	\$5.00	\$6,000.00	\$6.90	\$8,280.00	\$3.00	\$3,600.00	\$4.00	\$4,800.00
91	TEMPORARY PAVEMENT (ROADWAY AND ENTRANCES) [INSTALL/ REMOVE]	SY	338	\$58.00	\$19,604.00	\$55.00	\$18,590.00	\$24.50	\$8,281.00	\$64.00	\$21,632.00	\$65.00	\$21,970.00
92	TEMPORARY PAVEMENT (ASPHALT PATH) [INSTALL/ REMOVE]	SY	41	\$45.00	\$1,845.00	\$45.00	\$1,845.00	\$24.50	\$1,004.50	\$61.25	\$2,511.25	\$45.00	\$1,845.00
93	TEMPORARY STORM PIPE (12")	LF	75	\$75.00	\$5,625.00	\$40.00	\$3,000.00	\$93.00	\$6,975.00	\$58.50	\$4,387.50	\$75.00	\$5,625.00
94	TEMPORARY STORM PIPE (18")	LF	15	\$120.00	\$1,800.00	\$45.00	\$675.00	\$135.00	\$2,025.00	\$71.50	\$1,072.50	\$90.00	\$1,350.00
95	AGGR.BASE MATL. TY. I NO. 21B FOR TEMP. CONNECTIONS (VAR. DEPTH/ MAINTENANCE OF ENTR.)	SY	2380	\$18.00	\$42,840.00	\$10.00	\$23,800.00	\$10.00	\$23,800.00	\$8.00	\$19,040.00	\$17.97	\$42,768.60
96	RESET WATER VALVE	EA	2	\$400.00	\$800.00	\$250.00	\$500.00	\$1,345.00	\$2,690.00	\$390.00	\$780.00	\$4,512.00	\$9,024.00
97	RESET GAS VALVE	EA	2	\$550.00	\$1,100.00	\$500.00	\$1,000.00	\$1,158.00	\$2,316.00	\$1,000.00	\$2,000.00	\$3,000.00	\$6,000.00
98	RELOCATE WATER METER	EA	1	\$2,100.00	\$2,100.00	\$1,750.00	\$1,750.00	\$4,038.00	\$4,038.00	\$1,300.00	\$1,300.00	\$4,432.00	\$4,432.00
99	ADJUST SANITARY MANHOLE TOP	EA	3	\$2,500.00	\$7,500.00	\$1,250.00	\$3,750.00	\$1,158.00	\$3,474.00	\$1,950.00	\$5,850.00	\$1,178.00	\$3,534.00
100	COORDINATION FOR BRACING UTILITY POLE	EA	2	\$1,800.00	\$3,600.00	\$500.00	\$1,000.00	\$115.00	\$230.00	\$5,000.00	\$10,000.00	\$1,575.00	\$3,150.00
	TOTAL BID				\$1,130,277.85		\$1,157,334.10		\$1,247,540.15		\$1,331,005.00		\$1,785,169.97

N	o. Description	Uni	its Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
	Bid Opening 2/22/17 11:00 AM Opened by Gina Gilpin Witnessed by Luis Blandon			Sterling, VA 20166		Lorton, VA 22079		Washington, DC 20018		Manassas, VA 20109		Jersey, VA 22481	
	IFB 17-15 Marshall Road Sidewalk Improvements								Fort Myer Construction 2237 33rd Street NE			Jeffrey Stack, Inc PO Box 280	